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MODEL PAPER (MATHEMATICS ) INTER (PART _ II)
sEsstoN 2023-25 ANO ONWA lvE

TIme : 30 Mlnutes Marks i20 Paper Code No,8197

Noto : tour possible.hoic€r A, B, C,D to eaah questlon aro dven. Which .hoice is corrccr fillthat.ircle ln
front of that Question No on the Objective gubble sheet, Use Marker or P€n to filt the ckctes. Cutttnt or fi inA
two or more clrcles will result in Z€ro Mark in th.t qu€stion.
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(1, 1) is the solutron of r+/s0 2x+y<0
Rad usofcrrcle, 4is l;,
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MODEL PAPER (MATH } INTER (PART - II)f-.'t

w (BrsE BwP) SESSTON (2023-25) AND ONWARD (SUBJECTTVE)
Tims : 2:30 Hou6 Marks : 80

Nol€r lt h .ompulso.y to atrempt a.y (8 - 8) Parts ...h kom q.No. 2 and Q.No.3 whlle arempt anv {9) Pi r lron
q No.4. Alt€lnpr any{3}Quenionrfrom Part- ll. Write iaoe Quertion No. and its P.rt No. as giv€n in the Quenion 9ap...

(Part-l) 25x2-5.J

QNo2

ir.

lii.

vil.

viii,

xii.

Q.No. 3

iii,

Q.No.4

iii

ti

Dr.w a trrph of l(.r) whore lamat exists atr = d but I (a) does not oxist.
, rz ]5

LValuate Ilm 

-.
r-s r(,-;)

Evaluate lim 9.
Oifferenti.te sin2x w.r.t (.r + 1){.

Prove thar * (3') = 3i?n3

What is the dlfference between d) and 6/.
lrove that f, lan-1x? = j,.L
tor r{hat value of h, Iailors 5eries becomes a Maclaunn series

oefrnr convex functlon with example.

Explain vedicilline test in your words.

Whar is the dlfference bclween feasible reSlon and solution retion wlth traphtca I €xamp l€ ?
6raph the rolutlon region of x + y < 0

.6r,+rI
Evaluare JylJdx

,,+7
Evsluatc JJ-dr
Eralust6 Ir, x dr

Evaluate ler (cosx +slnr)dr

Etslu.lc J --i: e

I:illd the erla bewetn the x _ axrs and the culve y'4x-rr
d't

Solve ura drffcl.nnsl equauon 5!cr + Bny- -0

Find anequalio, of thc linchsvi0g y_int!rcept=-Tsndslope-_5'

Irind the angle bctwcrn the lines rcpllsc])lcd by t +2xycecc 
"yL=(t

1{ 11.5t at a drnince of 15 vhitfrofi the on!'nl
t.;ian equ.rbn ol i l'nelhroulh (- E,5) h intrlog€ urdel'red

,..j rh. d sl.nce ol thE polnl P(6 _r)frcmlie

llowcan you find the slope o1 a line givelt two poinls on the lin'?
'lhe poinrs (- 5, -2) & (5, -4) are ends ofa diameter of a circle Findtheradrus

and cenire ofthe circle

H1)s .an \ ou deline the allil(de of tri6ngl' v
rrllld rx cqu,]!ron of l,nc havrngt _ lntercep'-9 an(lsloncS-4

iiow can define an81e bel\^reen two paraLl€l lirles

lilnd thu rneasur e ui allglc; x1 + zxy sec q + y2 = 0

Fln(! ihc disrnncc and nrid poinl ot A(3.1) & B(-2' -4) '

Frnd rhe cquarion ol the circle whose ends of a diameter are at A(-3,2) and B(5, -6)
Mnl(c il syritL'nraric diaBranr il P(x, y )beany polnt on tlre circle wllh centrea! oriSin

:rrLlirrrllrtltiond,
\tt]ie Lhr lllrneral l0im ot equation of circle'Civean eaxample'

hnd an equation o[ tBnsent to cjrclef + ]r = ?5 al (4,3) and make a sketch

pl.ove that normal lines ofa circle passes throuBh the cenre oithe circlc .

l.ind L,q. of cllipse if vertices (0, f 5), ecentricty = : P.T.o



(Part-ll) 3 x 10 = 30

Q.No.s (a) lf /(,)-;:T . x > 1. Ihen venry,hsr : { /.r(r ll. i.'(/(rl).-.(

tr' x =acosSd ard / = rsinld. ilowrhe, a4 =6un4 -o.&

struo tUar r = 4 has maJ(imum valuc at x = i
,J1

Evalurc I ft
,il.sin r +cosx

t_latuate I _d,
e sind+cord

i5)

ib) i,.)

Q.No 6 (.) (s)

it) (!)

Q.\"o.7 (it)

(b)
6)

Q No.8 G)

Cmph th. feasible region cfrhefollowing sysrenr oftinca, inequnlities. Also find

2r+ 1:!J18.

tJt/.a10,
r+t, iil2 ,

,.0 (j)
Wri(. a equahon ofrllccir.ie parsing voLBh the po.nrr

/{4,r, r(+,-3). c(r,-3) ,:l
ln any A ,{aC, prov€thet(b)

t5)

Q.No.g la) Find the eq uatlon of lhe ta n8ent9 to lh€ ellipse L tr,l.. r wh i.h .re paraflol ro

(b)

th€ line 1,-1y+s.o (S)

Find $e len$h ol lhe chord cur oil from $e line 2r+rr, -13 by the circ,e
r'+rr" zt. (5)
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